Eff|0|ency vs dr

m009
oO 08|
oO 07
°006
0.05
0.04
0.03
0.02
0.0%

ie) J' I_._ 0] d 2]9) ar- TOTIT
g rok-| =5 R B LR
1 - L= |xeTCP Ei‘atp st e ‘ggr pWasel newgeom
- | e
0.95[F--- - - :
o i i
107 1072 1 1
TP min AR

[ Efficiency vs dr (track,jet) |

.§0.02
0.018
£
Q.OlG
©.014
>
9.012
2 o
o .
£ 0.01
©
0.008
0.006
0.004
0.002
.0

Ratio

[y
TTTT] T

0.95

107 1072

Efficiency vs pu

1
AR(TP, jét)

-0.05
o
9.045
30.04
(]
'9.035
=
®0.03
0.025
0.02
0.015
0.01
0.005

...................

...................

.................

1O

Ratio

1.1

1

0

O[T

3

120 140
Pileup

100

-1




	Contents
	Page 1


